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Math 112 NAME: ‘Aﬂ’\s OV Ave quiz % =
Test 3A- _ 100 Ave HW % =
Sec 8.7-8.8, 9.1-9.5 & 13.1-13.3 SEAT: Test1.2.73 =
Show all your work. Partial credit is based on your work shown! Total =
~10pts— Total /5 = semester % =
CL'_S 1. Solve for the missing side in a triangle where a =3, ¢ =2, and angle B = 110°. Y\ﬁfc < 4 <
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q p(. Find the area of each triangle. Neither triangle is a right triangle. Round the answers to two decimal
£~ places and-include appropriate units with your answer. Show all your work.
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Math 112 % T éﬁw—*”“gﬁﬁ # Test 3, page 2
10pts Show all yourwork.”' X% “(=iad
4. Suppose you are headed toward a plateau 60 meters high. If the angle of elevation to the top of the
plateau is 25° , how far are you from the base of the plateau? | 2.5, é7m Draw a sketch to illustrate
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5. Give answers as exact values,gn fragp_opﬂ_onn&of_n,—on the interval 0 <@ < 27. A0
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6. The displacement, d, (in feet) of an object at time t (in seconds) is given by d = -3sin(r 7).
[Include units with your answers.] | !
a. In this simple harmonic motion, what is the .. /.7 "~
maximum displacement from its rest position? L
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Math 112 Test 3, page 3
8pts
Ty 8 Wnte out the terms in the indicated sequence and then ﬁnd the sum
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b. Use the sum(seq( .)) feature of your graphing calculator to find the sum of the first 28 terms of

L( this sequence. Write down what you type into your calculator and then indicate the result.
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8. Write the next two terms for each sequence and then write the n" term for each sequence.
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s Show all your work. - p ,
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c. What is the 25™ term in this sequence?
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. d. What is the sum of the first 25 terms of this sequence?
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